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QUESTION 1
Which two statements are true about verbal rules and business phrases? (Choose two.)
A. You can create a verbal rule with business phrases as a column in a decision table rule.

B. Derived business phrases are automatically created by using facts, globals, and other information in the rules
dictionary.

C. User-defined business phrases can be explicitly authored to augment derived phrases.
D. You can mark a verbal rule as draft in the Rules Editor.
Correct Answer: BC

Explanation: Derived business phrases are automatically created using facts, globals and other information in the
dictionary while user-defined phrases can be explicitly authored to augment derived phrases.

Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer- user/ business_rules_bpmcu.htm#BPMCU506

QUESTION 2

Which two modeling approaches could be used to handle exceptions thrown by a service? (Choose two.)

A. subprocess

B. event subprocess

C. error and event

D. error catch event as a boundary event on the service task

Correct Answer: BD

Explanation: You can handle the exceptions that occur in an activity using the following:

*A boundary error catch event

*An event subprocessBoundary error catch events enable you to resume the main process flow after handling
theexception.If you want to reuse the exception handling flow for multiple tasks in your process, then
eventsubprocesses are more efficient than boundary catch events. Event subprocesses enable you todefine a cleaner
process with less effort because the catch error event is located within the eventsubprocess. To reuse an exception

handling flow using boundary catch events, you must define aboundary catch event for each of the tasks, and then
connect those boundary events to theexception handling flow.

QUESTION 3

Which two statements are accurate about how ADF Business Components can be used in a task flow for a human task?
(Choose two.)

A. They can create and insert a new row in a database table.
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B. They can invoke wildcard control flow rules in the task flow.

C. They can initialize the information displayed on a form when given an ID from the process payload.
D. They can declaratively map database information back into the process payload.

E. They can invoke task flow call activities.

Correct Answer: BE

QUESTION 4

Which two components in a BPM project can be promoted to become a case activity? (Choose two.)
A. Mediator

B. BPEL

C. Human task

D. Business rule

E. BPMN

F. Spring

Correct Answer: CE

Explanation: A case definition contains various case activities that represent the different work that the user can perform
in the context of a case. Oracle BPM allows you to define case activities based on:

a Human Task
a BPMN process

Reference: http://docs.oracle.com/cd/E28280_01/doc.1111/e15176/case_mgmt_bpmpd.htm#BPMPD87410

QUESTION 5

What determines the life span of the value in a subprocess data object?
A. process

B. task

C. subprocess

D. project

Correct Answer: D
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